

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	guardrail repair w beam	101026	968-77	Traffic Safety Services	1,000.0000	LF	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			1,000.0000	34.75000	34,750.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			1,000.0000	35.00000	35,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	repair w beam post in concrete	101027	968-77	Traffic Safety Services	100.0000	LF	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			100.0000	46.00000	4,600.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			100.0000	52.00000	5,200.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	repair w beam post in asphalt	101028	968-77	Traffic Safety Services	200.0000	LF	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			200.0000	44.75000	8,950.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			200.0000	45.00000	9,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	repair t beam	101030	968-77	Traffic Safety Services	100.0000	LF	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			100.0000	92.00000	9,200.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			100.0000	90.00000	9,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	supply and install type 12 ter	101032	968-77	Traffic Safety Services	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			3.0000	2500.00000	7,500.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			3.0000	2500.00000	7,500.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	supply & install type 1 termin	101034	968-77	Traffic Safety Services	5.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			5.0000	600.00000	3,000.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			5.0000	550.00000	2,750.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	w beam new install	101035	968-77	Traffic Safety Services	300.0000	LF	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			300.0000	32.00000	9,600.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			300.0000	30.00000	9,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	reapir double face in concrete	101038	968-77	Traffic Safety Services	50.0000	LF	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			50.0000	60.00000	3,000.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			50.0000	65.00000	3,250.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	emergency repairs	101040	968-77	Traffic Safety Services	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1022	1	savannah river utilities co	james griffin	4824			1.0000	500.00000	500.00	
1213	1	Leon's Fence & Guardrail, LLC	Leon Chaplin, Jr.	3606			1.0000	550.00000	550.00	